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Read the text below and then answer questions 1-3. (50 points)
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THE GRANDMOTHER EFFECT

<

Many young families live near their grandparents. This

7,

has many advantages for everyone. First of all, grandparents,

especially grandmothers, are usually happy to help with the

.

children. In addition, grandmothers have a lot of experience,
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so they know how to solve problems. This makes life easier
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for new parents. Scientists call these advantages for the family
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"the grandmother effect."

\

Wikimedia Commons,
orca Lofoten male female.
Released into the public domain
by Rene at the Wikipedia project

Human beings are not the only ones who enjoy the
grandmother effect. Some animals do, too. For example,
young orca whales live with their mothers and grandmothers.
The grandmother whales know where to find food, and they lead their families to it. The grandmothers

also protect young whales from dangers while their mothers are looking for food.

Orca whales can live for many more years after they become grandmothers. This is also true in
humans and a few other kinds of animals. Scientists believe that in the future, they might find more

animals that enjoy the grandmother effect.
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QUESTIONS (50 points)

Answer questions 1-3 in English according to the text. In question 3 circle the number of the
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correct answer. In the other questions, follow the instructions. (50 points)
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What does the writer explain in paragraph 1?7
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How grandmothers can help new parents.
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....... ii)  Why grandparents have a lot of experience.
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....... iii) What children learn from grandmothers.
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....... iv) How scientists learn about families.
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....... v)  What the grandmother effect is.
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How do grandmother whales help their families? Give TWO ways. (paragraph II)
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3. In the future, scientists hope to (-). (paragraph III)
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ii)  see the grandmother effect in other animals
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PART II:

Read the text below and then answer questions 4-7. (50 points)

A SHORTER WORKWEEK

I Today, most people around the world work five days a week. But studies show that a
shorter workweek has many benefits for the workers. Last year, an international company
did an experiment to see if this is true. About 2,300 of their workers in Japan worked only four

days each week and still got the same pay as when they worked five days.

5 10

used their cars one day less, they saved money and caused less pollution. This was also good for the

It wasn't surprising that most of the workers enjoyed working fewer days. And, since workers

environment.

III  But some results of the experiment were unexpected. The company discovered that it benefited
too. During the experiment, more projects were finished in less time. Moreover, the company used

10 less electricity, water and paper. This saved the company money and benefited the environment.

IV~ Companies in other countries are also experimenting with the shorter workweek. Their results

are similar. So, people everywhere may soon enjoy a shorter workweek.
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QUESTIONS (50 points)

Answer questions 4-7 in English according to the text. In question 6, circle the number of the

correct answer. In the other questions, follow the instructions.

4.

PUT A v BY THE TWO CORRECT ANSWERS.

What do we learn in paragraph I?

How long the experiment was.

Which days of the week the workers worked.
Why the company did the experiment.

How much money the experiment cost.

How many people participated in the experiment.

How did many of the workers feel about the shorter workweek? (paragraph II)

ANSWER: L.

According to paragraph III, the company learned that ().
i)  the workers were not surprised by the change
ii) the workers wanted to participate in more experiments

iii) the workers finished their projects faster

How did the shorter workweek benefit the environment?

Give ONE way from paragraph II and ONE way from paragraph III.

(Paragraph I1) .oo..eooieiieee et
(Paragraph IT1) ....occeeeeieeeiie ettt ettt ettt e st eenteesneeenaeennre e
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(8x2=16 points)

(8 points)

(8 points)

(9x2=18 points)
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